1243
+242
+241
T240
Lo39

1+150.000

WYKOP - 5,09 m2
NASYP - 0,00m2

242+
241t
240t
239

253

1242
241
1240
239
1238

1+000.000

WYKOP - 4,73 m2
NASYP - 0,00m2

242
2
210}
2391

381

242
241
240
239
Lo38

0+850.000

WYKOP - 3,62 m2
NASYP - 0,00m2

242
uH
201
239F

244
Tu3
+242
41
Lo40

0+700.000

WYKOP - 4,95 m2
NASYP - 0,00m2

244
a5}
242}
214}
2401

242
241
240
+239
1238
Los7

0+550.000

WYKOP - 4,15m2
NASYP - 0,00m2

242
24t}
210}
2391
2361
2371

241
+240
+239
+238
Los7

0+400.000

WYKOP - 4,18 m2
NASYP - 0,00m2

241
210}
2391
2381
2371

241
+240
+239
1238
Loz7

0+250.000

WYKOP - 3,17 m2
NASYP - 0,00m2

24t
210}
239%
238}
2371

240
+239
1238
237
Lo36

0+100.000

WYKOP-5,12m2
NASYP - 0,00m2

240
239}
2381
237+
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